M = 0 &8 AF & & Al A
SA: T AN
S DI X&EE TADIB 2=
¢ NEaged &2 (cHe & &
SN S(BH) - MBEAY - BAS 0 F 08 bt HRE2
S ARt 188,290 378,665 A 190,375
OIcHXISEE T AID|IEH = 181,408 365,960 A 184,552
NeRee® 2 181,408 365,960 A 184,552
1.2A & FHEE JH| 10,596 207,120 AN 196,524
201 LEt2AH| 3,486 2,820 666
01 ALR 22l bl 3,486 2,820 666
1) Bt2H| 2,940
2)%=24] ¥ =42 2,640
3)2UE 1,870,000& =11 1,870
3)siso 770,000& * 1 770
2)ME= O Xt MIE 300,000& 300
D=y 840
)CANBMIZARSG HHLE
70,0003 x6H *23| 840
1) 0l &R 24 -294,000& N 294
203 YR =& 7,110 4,300 2,810
03 Al F=E SR =X 7,110 4,300 2,810
NEAREY 2K 300,000& x12& 3,600
1)RHOHE QI CH 24| 4,000,000& 4,000
NZASHEIAERALS 2 300,000& 300
1) 0l AHE 2 7,900,000& * -10% AT790
2. MEBHISAX 7 LA 170,812 158,840 11,972
201 LEt2AH| 31,842 16,840 15,002
01 At 22l bl 31,842 16,840 15,002
1) Bt24| 15,780
2) el A HI 1,920
VMEHIESEX R HEAIE E2 2| EE
1202 8,000 25 1,920
202202 38,5003 *4Etx9cm* 103 13,860
NEH22HI2 16,000
2)=XL s A 2y diA2H=
8,000,000 20 < 16,000
NAE2 3,600
2IMPKIE 2 100, 000& *6H *63| 3,600
1) 0l AHE 2 -3,538,000& N 3,538
203 e F=&H| 5,400 6,000 A 600
03 Al =& HRF XY 5,400 6,000 A 600
DX HEHISEXZP dR2FE
250,000 x12& 3,000
NEAS HEHISEXR g4
250,000& x12& 3,000
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SA:
X XH -
o Tt

ool

SN S(BH) - MBEAY - BAS 0fl Ak 2 bt HRE2
1) 0l AHE 2 6,000,000& * —10% A 600
401 Al EHI L 2 0HYI 133,570 136,000 N2,430
01 A& HI 133,570 136,000 N2,430
1)J12 X AHE HIH| 140,600
Q0EANMMELI SRR HHIMY 222 S
A 101,000,000& 101,000
DSHIFUASTUIAIY H22ISY
39,600,000& 39,600
1) 0l AHE 2 140,600,000 * —5% AT,030
HEAAHI (S AN 6,882 12,705 N5,823
JI23HI (S AIJHE D) 6,882 12,705 N5,823
3.0|2ZHI (S AIDHE D) 6,882 12,705 N5,823
201 LBt2AH| 2,342 2,205 137
01 AFR22t2l bl 2,157 2,020 137
1)L BEt=2H| 2,396
2)J | 2AN2E2EH| 10,000 »27H 270
) E2HARE 1,800
3)A0 30,000& *102 300
3)A1 20,0003 72 140
3)Zee3a 180,000& *4 3| 720
3EHHNE 160,000& *43| 640
)T ADE 326
3)E QI 32,6003 104 326
1) Ol AHE 2 2,396,000& * —10% A 239
02 3329l 185 185 0
nNzZzez o MA 185
2)HOIETV =412 15,400 =128 185
203 YR =& 3,780 4,200 N420
04 EAMS2IHERFEHI| 3,780 4,200 A 420
NEASHELR2F=KH| 350,000& x12& 4,200
1) 0l &AHE 2 4,200,000& * —10% N420
405 RS =] 760 6,300 AN5,540
01 ML =2 S FH S| 760 6,300 N5,540
NAAFS 800
2)HE D 800, 000& = 1CH 800
1) 0l &HE 2E 800,000& * —5% A40
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